r 3
vo -—
- 7  GsT - L
GST | e %+ % ~ = %8
=™V Es %t — %t -
GST ~ r -=8/ — 5d :I-”
[0 - %t L o
3A4°
Y8 ! J|| = ™3 A
L= s 29 W% o3[V
a YT L <V GST

V- =13 = o
%=|= 1/8|||=
F/ E™3A°/ | #£8
L =9
= o

AL

™

=1

q

— <z

4 4

3/8=|=

AL

=|8

Y

1
oV 9 | —

| < 3%

0]

tal

IN

(B)
Uik B




o Wafl | x

N Y%+ - 7 GST < AL =8/ — LA
2CNBSF—  ~ A
no v | L =y ks —GSTE A1 <% #Neo
0 < X
wt — o] - = b= - s s
mes —v ke %tk - %t L - LfvE-|e Ly
{v<s%  #Nefo1— - 9 — =%GST#Nef°GST| o-—
L o et oanofi M gy %l =oai anmofi o
Vool o= L e = o ad=e o 4o fy=e
GST— %L a1 <s%#%] re %+ — L a1 <s%nzwn|az-
GST — %4 a1 %™y =% 1d =™ % a%tls el anofi<
A | GST— %4 - 4= %% «¥%os R
-7 awofi— % ™V Es  d |- | — -~ auofis
-8 - GST— %d 41 < %2 %o %[ V°
/oL #ES -idk#| GST< o= L=548G6ST— %L 4
CNBSF & oV 9 — | L 4 t+1dA085V8GSTs
od A ™ d ~90, _ Ls - 4 Foo 8 ai apofic =8
GST - A - Ao/ =5 =V % GST < o=

% A





https://onlinelibrary.wiley.com/doi/abs/10.1002/cbic.201800671

